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1. R0AST I N9 050
2. 0O O D050
3. AFOTO0 DT 0HO

4. 3 YT 0O

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=6593]
2[Option ID=6594]
3[Option ID=6595]
4[Option ID=6596]

Sl. No.100
QBID:127100

508 DT DA AN (833D OB DadTPTIm e TPODOG:
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(1) 1
(2) 2
3) 3
4) 4
1[Option ID=6597]
2[Option ID=6598]

3[Option ID=6599]
4[Option ID=6600]

Sl. No.101
QBID:3201001




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

le M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

= 31 7T dTfad] § URA & B¢ e A-F 1 [Ud B¢ APTHd 9!, Tuaias, fodl, Ja!, dafd,
TS 3MIe! SR gaileTs H R YouT (M) 3R Afgarsil (sl w1 UeiRid ®1 173 § | difeid] & 3fibs| &
TR IR U DI IR ST -

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The ratio of the number of females to the number of males in City-E working in SBI, UCO and IOB together is :

1173 ;173
2.173 =177
% A725077
4.172 1175

(1) 1
) 2
(3) 3
(4) 4

QIEY E H U133, bl SR TS 3ldl H FHY SRR Algclsfl i W1 iR JoN] o] W1 1 3FUId R1 6 2

1173 5175
LI 7 . S T
3. 1725 17%
41722175

1)1

) 2

(3) 3

(4) 4

1[Option ID=8601]
2[Option ID=8602]
3[Option ID=8603]
4[Option ID=8604]

Sl. No.102
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

i<l €1 T3 dTferel H HIRA & B e A-F H [d T8 AP dobi, Tqalas, dIesl, g, diafld,
TS 3MIe! SR gaileTs H R YouT (M) 3R Afgarsil (sl w1 UeiRid ®1 173 § | difeid] & 3fibs| &
SR G U T IR Il -

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The approximate percentage of the number of females with respect to the number of males across all the banks
together in City-B is:

1. 88%
2.98%
3.78%
4. 86%

1) 1

(2) 2

(3) 3

(4) 4

Qg B H Hdl dh1 H [AeTeh? B Aigarsil &1 Tegn Youi @1 YT o1 TRTHIT fdod=T Wia=Td ¢ 2

(1)1
() 2
(3) 3
(4) 4
1[Option ID=8605]
2[Option ID=8606]

3[Option ID=8607]
4[Option ID=8608]

Sl. No.103
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

i<l €1 T3 dTferel H HIRA & B e A-F H [d T8 AP dobi, Tqalas, dIesl, g, diafld,
TS 3MIe! SR gaileTs H R YouT (M) 3R Afgarsil (sl w1 UeiRid ®1 173 § | difeid] & 3fibs| &
SR G U T IR Il -

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The number of females working in UCO from City-A is approximately % more than the number of
females working in PNB from the same city.

1. 278%
2. 182%
3. 180%
4.331%

1) 1

(2) 2

(3) 3

(4) 4

R A H IP! §F H B Afgarsil o1 weam 341 wgR H Uiedd! § drikd Higarsi &l Hwear 3 T
fa e Hicr=Ia 31fdieh g 2

1.2
2.1
3.1

.
T
tad
—
e
o~

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8609]
2[Option ID=8610]

3[Option ID=8611]
4[Option ID=8612]

Sl. No.104
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

i<l €1 T3 dTferel H HIRA & B e A-F H [d T8 AP dobi, Tqalas, dIesl, g, diafld,
TS 3MIe! SR gaileTs H R YouT (M) 3R Afgarsil (sl w1 UeiRid ®1 173 § | difeid] & 3fibs| &
SR G U T IR Il -

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The total number of females working across all the six cities together is more than 1700 in:

1. all the six banks
2. exactly three banks
3. exactly four banks
4. exactly two banks
1) 1
() 2
(3) 3
(4) 4

Tt 38 el & Sk Afgarel ot Te Fafatad 7 9 feae 1700 T 319w g 2

1. 94 o5 dbl H
2. Bid i sl |
3. 3@ IR dHi A
4. Bl al dbl H

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=8613]

2[Option ID=8614]

3[Option ID=8615]
4[Option ID=8616]

Sl. No.105
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

le M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

= 31 7T dTfad] § URA & B¢ e A-F 1 [Ud B¢ APTHd 9!, Tuaias, fodl, Ja!, dafd,
TS 3MIe! SR gaileTs H R YouT (M) 3R Afgarsil (sl w1 UeiRid ®1 173 § | difeid] & 3fibs| &
TR IR U DI IR ST -

s H HHATNYT BT AgR-aR faawo

ECd THatens | oAt el dtofdt | emseidt | gtz
WB?l M [P M [F [M [F [M [F M [F [M |F
A 553 |24 673 116 [433 [500 [534 [454 256 235 |556 357
B 254|456 [346 256 366 |345 [478 [285 |256 166 |346 |287
C 157 388|346 456 124 [456 [235 235 |574 |599 589 [190
D 114|378 124 [235 [235 |88 |255 175 |[324 198 180 |256
E 234|120 241 [156 350 |234 [124 [165 124 334 |155 |18l
F 353|325 [348 174 [399 [439 [358 [234 125 |235 |278 |192

The difference between the number of males working across all the six banks together in City-C and the number
of males working across all the six banks together in City-D is:

1. 1022
2.1214
3. 1198
4. 1084

1) 1

(2) 2

(3) 3

(4) 4

QER C & Gl B dbl H HIRT oY @1 U1 3R e D & GHI §¢ dobl H SRR JouI &1 W1 & |9
B R [Ha1g 2

1. 1022
2.1214
3.1198
4.1084

1

() 2

(3) 3

4 4

1[Option ID=8617]
2[Option ID=8618]
3[Option ID=8619]
4[Option ID=8620]

Sl. No.106
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Both students and teachers work harder and persist longer when they have a high sense efficacy. Which of the
following does not enhance self-efficacy in both students and teachers?

1. Day to day success in achieving tasks

2. Formal school relationships that focus solely on skills

3. Assistance from more knowledgeable partners

4. High expectations from those in the environment

1) 1

() 2

(3) 3

(@) 4

faemeif 2R fRrefep da 31 HAR IRYH B & 3R e I T S¢ 38d & o 36 UHIEIdIGHdl Bl I
qly gldl g | FafeiRad | 9 a1 faanfial oik Rige! <l § W-uHHidesdl H dfa 78l didi g ?

1. BEAYR G D | i goheid]
2. T DI TR bisd A= ey ddy
3. Sifey A W HIAT ¥ Weradl
4. GRAY H GO Y 3AlYD 3Uemy
1) 1
() 2
(3) 3
4) 4

1[Option ID=8621]
2[Option ID=8622]
3[Option ID=8623]
4[Option ID=8624]

Sl. No.107
QBID:3201007

Direct instruction is most suited when teachers:

1. teach basic skills
2. have their students explore pathways to solve a mathematics problems
3. encourage their students to refine their creativity in art
4. assign critical thinking exercises
1
(2 2
(3) 3
(4) 4

Y& 32 Ydiitieh Juger gidl ¢ e A& -

1. g oI T e ed g 1
2. 31g+ faenfial 9 nifordta Tt g9 ® & Il Bl AU HRAA G |
3. U+ faeniel &1 el H# IAD] FofidADdl & URDR & oy HieHIfgd HId & |
4. HiATTHS faaRur 29 9igd § |
@ 2
(3) 3
(4) 4

1[Option ID=8625]
2[Option ID=8626]
3[Option ID=8627]
4[Option ID=8628]

Sl. No.108
QBID:3201008




Match List I with List IT

LIST I (learning style) LIST II (Learning characteristics)

R — I Ccncr‘_ate. experience and reflective
observation

B [Biiremes n Concr_ete experience and active
expernimentation

& Wessaies . Abs‘frgcr conc eptualization and Active
experimentation

D. |k v |A bstract conceptualization and reflective)

observation

1. A-III, B-1V, C-11, D-1
2. A-IIL, B-1, C-1V, D-II
3. A-IV, B-1, C-11, D-IIT
4. A-1V, B-I. C-1IL, D-II

Choose the correct answer from the options given below:

1) 1

() 2

(3) 3

4) 4

Gl 11 g=l 1 9 fAar Sifse

1 1 (AT T T 11 (SATAATH SHTHwa)

. o %ﬂ%ﬁ?ﬁﬂ%
. |ER® I mﬁwﬁﬁwm
C  [EaS i, [T SremeiR
D [OHMEeS v, &mﬁﬁfsi;ﬁiwaiz SR

fofeiRad Aol & 9 Iel 3R &7 994 BIoY ;

.A-IL B-1IV, C-11, D-1
CA-IITL B-1L C-IV, D-I1
.A-IV, B-1, C-II, D-III
4. A-IV, B-1, C-III, D-III
(1)1
(2) 2
3) 3
(4) 4

|
2
3

1[Option ID=8629]
2[Option ID=8630]
3[Option ID=8631]
4[Option ID=8632]

Sl. No.109
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Match List I with List IT

LIST I (Type of memory) LIST II (Meaning)
: Memory of remembering the route to
A, |Semantic L At i =
drive home
Memory that contributes to vour
B. [Episodic II. |sense of self. vour own history or
identity
C. JAutobiographical III. [Memory of General knowledge
Sl v Memory of life e\'_enrs that happened
to vou or around vou

Choose the correct answer from the options given below:

1. A-III, B-1V, C-IL, D-I
2. A-II, B-1V, C-111, D-1
3. A-III, B-1I, C-1V, D-1
4. A-1II, B-1, C-1II, D-IV

1) 1
2) 2
3) 3
(4) 4
Gl 11 g=l 1 9 fAar Sifse
e 1 (Fid T TPR) T 11 (3%
A ki ¢ gmﬁcqfﬁmnﬁwaﬂﬁaﬁ
g Ffd =1 AT Shd @, AHTd
B. [SUBIHES I |HUH (e 3udl UgaH & a1y |
TrTe Bl &
C. [srEmuE® Il [ 9E &1 S
. |S1TOts Ty 31YET HTUd HEUH
D. [ . - geAr & |

frofafad fasedl & 9 98l SR &1 994 Sifu -

1. A-IIT, B-1V, C-I1, D-I
2. A-TI, B-IV, C-1II, D-1
3. A-IIT, B-II, C-IV, D-1
4. A-II1, B-1, C-1I, D-IV

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8633]

2[Option ID=8634]

3[Option ID=8635]
4[Option ID=8636]

Sl. No.110
QBID:3201010

If you want to assess the students performance and want to give them immediate feedback, which software will
you select?

1. Kahoot
2. Animaker
3. Plotagon
4. Powtoon

11

(2) 2

(3) 3

4) 4




gfe 31 faefal & S Y= &1 Jedih 1 dlgd & 3R 3= dabld Uiy ¢A1died 8. of o g o
3 frg Qi dmR &1 g1 2

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8637]
2[Option ID=8638]

3[Option ID=8639]
4[Option ID=8640]

Sl. No.111
QBID:3201011

Arrange the following research components in correct sequence:

A. Preparing a research plan

B. Collecting Data

C. Drawing conclusion

D. Formulating a research question/objectives
E. Analyzing data

Choose the correct answer from the options given below:

1.AD.B.E.C
2.D,A.B.E,C
3.B,D,A,C,E
4, A,B,D,C.E
(1) 1
(2) 2
(3) 3
(4) 4

FafcRad ey Haeed] &l gl 3hH H SaRUd HIT;
A. QY TISHET TR BT

B. s Uhd HIl

c. frd Asmra

D. Y UH/35 24l BT (=Y

E. 3ib sl Pl [d2dyur

1< fau Y fa el H ¥ T8 Iugdd IR b1 99 DIfT:

1.AD,B,E,C
2.0, A,B.E. €
3.B.D,A,C.E
4 A,B,D,C.E

1 1

(2) 2

(3) 3

(4) 4

1[Option ID=8641]
2[Option ID=8642]
3[Option ID=8643]
4[Option ID=8644]

Sl. No.112
QBID:3201012




In a data set any extreme value, either very large or very small, compared to the rest of the data, is said to be:

. Exceedance
. Outlier

. Extreme

. Outsider
1) 1

(2) 2

3) 3

4) 4

U 3ol & =4 H [l 3 U Bl ol AY Hidbs| &I da-l H I1 dl 9gd dodl dgd DIcT 6, bedldl o
|

W I =

=

i

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8645]
2[Option ID=8646]

3[Option ID=8647]
4[Option ID=8648]

Sl. No.113
QBID:3201013

In online surveys, which of the following are sampling issues ?

A. People in a household may use the same computer, as they have access to only one.
B. Many respondents may have multiple email IDS.

C. Internet users constitute a biased sample of the population

D. Sampling frames for online surveys are cheap.

E. The governments restrict online surveys.

Choose the most appropriate answer from the options given below :

1. A. B and C only
2.B, Cand D only
3.C,D and E only
4. A, Cand D only

1) 1

() 2

(3) 3

(4) 4




HIarg Fdeon # FyfaRad # 9 SH-911 9 Uld=u- 48 ¢ 7

A. Tod! T TR & @1 U gl LR b1 WaRT 6d gi lifds 3 I HIF Ub gl HheR © |
B. 3% ITRaldIsl @I dglid sHd Ugd (ID) Bl Uil ¢ |

C. $XIC YAIadT S1ERaT b1 Ueh Ydiug! Uide=igld © |

D. HITeATZ" Hd&ull P T ufd=- hH 9xi § |

E. PR A3 A&l &I Wideied ddl g |

il faU 7Y fdpedl H I 9ad Iugdd IR &I 94 DI

1.$Hdd A, B. C

1[Option ID=8649]
2[Option ID=8650]
3[Option ID=8651]
4[Option ID=8652]

Sl. No.114
QBID:3201014

Mean of a data set is equivalent to:

1. First quartile of that data
2. Second quartile of that data
3. Third quartile of that data
4. Interquartile range of that data
1) 1
(2) 2
(3) 3
(4) 4

el U sfiheT GH=9d 1 {1 Y | U fhyd TaF g 2

1. 39 s BT yH agdid

2. 39 Hibsl Bl fgdid gl
3. 39 Hibsl BI gl Iqdd

4. 3K bl bl 3fd: gadd R
1) 1

(2) 2

(3) 3

4) 4

1[Option ID=8653]
2[Option ID=8654]
3[Option ID=8655]
4[Option ID=8656]

SI. No.115
QBID:3201015




Given below are two statements:

Statement I: Like correlation, statistical regression examines the association or relationship between variables.

Statement II: The primary purpose of regression is prediction.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement T and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
1) 1

(2) 2

3) 3

4) 4

fH APy RUU S

TYA 1 : Yoguae P Hifd, TiRSTHTT THIYTO <=1 & Tgad 3Ual 3d sid & Jaeif i Sfid 1 g |
DY I : FHIHTU] BT WD 339 YN 6 |

IWRIad HYA & 3fdiep |, Fd fau MU [dwedi # Ul IR &1 98- Hifore:

1. FUTIR I SHI Tal § |
2. FYF IR I SHI A § |
3. HYF 1 el 6, AP FUA I ITAd & |
4. YT 170d g, AfbT AT I TR § |

1) 1
2) 2
3) 3
(4) 4

LS I S I

=

1[Option ID=8657]
2[Option ID=8658]
3[Option ID=8659]
4[Option ID=8660]

Sl. No.116
QBID:3201016

In governance, communication is normally used as a means of:

1. Gender division
2. Preserving power
3. Encouraging illegal actions
4. Alienating the masses
1
(2 2
(3) 3
(4) 4

QTG H, HUNUT &1 SR SRl 9 J 9 59 & 919 & © 9§ [Ha1 Sar g 2

B GUACEISE

PRIRICARE |

3. 3{dY BRI B UicTed DAl
4. SdT D1 faHd BT

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=8661]
2[Option ID=8662]
3[Option ID=8663]
4[Option ID=8664]




Sl. No.117
QBID:3201017

A good part of communication in human society is through:

1. Para language
2. Infographics
3. Formal language
4. Hidden emotions
1
(2 2
(3) 3
(4) 4

HAHd THS H HUY0 &1 U Jol e MY d 9 fh9 b A Y gidi 6 2

1. YRTHYT

2.4l - 3 GRE|R (ijﬁlﬂlla’?fﬁ)
3. 3TN YT
4. =94 HId

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8665]

2[Option ID=8666]

3[Option ID=8667]
4[Option ID=8668]

Sl. No.118
QBID:3201018

Which of the following elements involving social positions are determinants of communication from the eastern
perspectives?

A. Absence of leadership

B. Ego-centric individualism
C.Role

D. Status

E. Power

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand D only
3.A, CandE only
4.C.D and E only

1

(2 2

(3) 3

(4) 4




gdf aRvied I i Uel &l Siasiddi did i+ 9 fHdifdd dad GUy & ek g 2
A. FJcd BT 3HId

B. 3gH hi-id Aliare

C. HfH®T

D. efigd

E. 2l

i< feu T famegl O O Yel 3R &1 98+ Difoie -

1.$Hdd A B.C
2. HddB. C.D
3. Hdd A, C.E
4. HAdC.D.E

1) 1

() 2

(3) 3

4) 4

1[Option ID=8669]

2[Option ID=8670]

3[Option ID=8671]
4[Option ID=8672]

Sl. No.119
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Given below are two statements:

Statement I : The linear model of communication is used for generating intentional results.

Statement II : The linear model of communication was the basis of propaganda during the World War II.
In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement IT are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
1) 1
(2) 2
(3) 3
4 4

BIEEAEAIC A 1

DY 1 : YUNUT b SAG HISA DI TR ST IR0 [HebTa- o fe1e fhar Sirar g |
DY 11 : YUY b1 1Y Hisd fgdia 9% g & SR 3119 U=R &1 3R o7 |
S BYF &b 3Mcld H, i fT T fdb el # Tel TR BT 98 Piforg:

1. FUFISR A TG |

2. U IR I GH A § |

3. FUTITA G, AP YT 3T ¢ |
4. FYFI 3T 8, dibd YT M I ¢ |

(1) 1
) 2

L I o B

d=




3) 3
4) 4

1[Option ID=8673]
2[Option ID=8674]
3[Option ID=8675]
4[Option ID=8676]

Sl. No.120
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Given below are two statements:
Statement I : Coercive communication is ethical, powerful and result-oriented.

Statement II : In international power politics, unethical propagandist communication promotes national prestige
and security.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4

TR A FART T E:
DY 1 : U GUYUT Afde, F2rad 3R gRUTHFdl gidrg |
DY 11 : SHTRAPIY T Ao H SATTD SATYTIRATE FU0T AT HANT 3R GR&T DI 9161 ol 6|

IURIFd HUA P 3fTclld H, i fGT MU [dhedi # TGl IR D1 I8 DIfOIT:

1. HYTI RIS I &
2. HYTI AR I SH e &
3. HYTIII g, dfbd HYA I AT ©
4. PYTI A ¢, AP YT I T ©
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8677]
2[Option ID=8678]

3[Option ID=8679]
4[Option ID=8680]
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Find the next term in the series given below:
o815, 1357

.18

i

ad [mD

B 7
(1)1
(2) 2
(3) 3
(4) 4

.




1= <Y 778 el H BRI Ug J1d BIIT:

-7,-5,-1,5,13,7?

L I

I

L)

(1)1

) 2

(3) 3

(4) 4

1[Option ID=8681]
2[Option ID=8682]

3[Option ID=8683]
4[Option ID=8684]
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N men can complete a job in 12 days. The same job can be completed by (N+6) men in 8 days. Find the value of
N

11

D D =

.

212
(1
(2 2
(3) 3
4 4

N e febdl b i 12 oAl H qrI R "ebdl ¢ | Il 1 1 (N+6) oalerrall gRT 8 ol H YR favan i epell
© | N T HIF J1d SIS

11

S S

.

12

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8685]
2[Option ID=8686]

3[Option ID=8687]
4[Option ID=8688]

Sl. No.123
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A beggar has Rs. 15 comprising of 50 coins of 25 paisa and 50 paisa. How many 25 paisa and 50 paisa coins are
there with the beggar respectively?

.40, 10
. 30,20
35,15
.36, 14
(1) 1
(2) 2
(3) 3
(4) 4

b b =

.




U TR & Ui 25 U9 3R 50 T & 50 [gdi ®i [HaHR 15 390 g | FFRIRT & 919 A 25 U9 3R 50
T & fpaa fRads ¢ -

.40, 10
. 30,20
.35 15
.36, 14
(1)1
) 2
(3) 3
(4) 4

S R S

B

1[Option ID=8689]
2[Option ID=8690]
3[Option ID=8691]
4[Option ID=8692]
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If the price of sugar increases by 25%, determine the percentage by which its consumption be reduced so as not
to increase the expenditure on it?

=l B =

.

VSIS
=]

)

(1)1
) 2
(3) 3
(4) 4

i =i 1 ged 25% d¢ SIdl 6, dl 39D SUHNT H {bd- Hid=Id S HHI DI O o 39 Wy H df 7
al

25%
30%
207
. 35%
1) 1
) 2
(3) 3
(4) 4

L S R

B

1[Option ID=8693]
2[Option ID=8694]
3[Option ID=8695]
4[Option ID=8696]
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A lady while going to her college in a car drove 20 kms towards north and then 15 kms towards west. She then
turned to the south and covered 10 kms. Further she turned to the east and moved 12 kms. Finally she turned
right and drove 10 kms. How far and in which direction is the lady from her starting point ?

1. 5 km, South
2. 5 kim West
3. 3 km, West
4. 3 km, North

1) 1

(2 2

(3) 3

4) 4




Uh Afgdl 39 Diciol oild IHY IR P 31R 20 fbHt 3R R 15 fHH gfyq &Y 3R $R gardi g | 9g
GI&0T T SR Hdl § 3R 10 fhel ®1 g qU Bl & | S 98 Ud DI 3R A1 ¢ IR 12 [hH Iadi g |
Wzﬂ;&@ﬁ@?ﬁ@?ﬂ%aﬁmoﬁﬁwaﬂﬁ% | HISET 3UT RIS (95 I fdal g SR [y
feamd g o

.5 Topul, <l
.5 et ufem
.3 Tl ulgm
3 el 3R

(1) 1
(2) 2
(3) 3
(4) 4

L R S R

.

1[Option ID=8697]
2[Option ID=8698]
3[Option ID=8699]
4[Option ID=8700]

Sl. No.126
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"Environmentalists are continually harping about the dangers of nuclear power. Unfortunately, electricity is
dangerous no matter where it comes from. Every year hundreds of people are electrocuted by accident. Since
most of these accidents are caused by carelessness they could be avoided if people would just exercise greater
caution." Which fallacy is committed in the above argument?

. Red Herring

. Slippery Sope

. Strawman

. Hasty Generalization
1

(2 2

(3) 3

(4) 4

"IgiaRuIfdE AT 39l & Tarl & aR A FRAR a1d R 3¢ ¢ | gHigav, fdegd Wdwrs ¢, 9re ag fadl
Hl Hid 8 Ui gidl 81 | U oy ddbs| divT [dggd 3ard &l gHel & fRIGR gid ¢ | 374 9 SHfebig

G SrETaYl & HRUM Al gIdl & . 31 ge-1adl Dl Akl ol ebdl ¢ Afe AT e Frae-t axd- i
SRIF HUYTH B - T b alv g ?

1.¥8 giar _
2. fhaagad el (Rl i)
3. UMYl () b &N
4. ffq=TRd ARSI
1) 1
) 2
(3) 3
4) 4

ST N

1[Option ID=8701]
2[Option ID=8702]
3[Option ID=8703]
4[Option ID=8704]
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Which of the following statement is logically equivalent to "No birds are mammals"?

1. Some birds are not mammals.
2. Some non-birds are mammals.
3. No mammals are birds.
4. All non-birds are mammals.
11
() 2




3) 3
(4) 4

FaiaRad @ U SF-91 HUH "Bis &l TR 761 o U dlivd U I A g 2

1. 5% vl TR T € |
2. % TR-Uel THYRI € |
3. Pls THYRI Tl 81 © |
4. g TR-Ual TAUR |

(1)1
() 2
(3) 3
(4) 4

1[Option ID=8705]
2[Option ID=8706]
3[Option ID=8707]
4[Option ID=8708]
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Which of the following is contrary to the statement "No mammals are birds"?

1. No birds are mammals.

2. Some mammals are birds.
3. All mammals are birds.

. Some birds are mammals.
11

(2) 2

(3) 3

4 4

"SBIg T el TE & By 9 Frafafad & 9 o fawdia 8

1. DTS gaf T TS ¢ |
2. O WAYRIUei g |

3. 9 YR Uel § |
4. 9 Ul WA T |
&

(3) 3

4) 4

g

1[Option ID=8709]
2[Option ID=8710]
3[Option ID=8711]
4[Option ID=8712]
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If the statement "Some animals are birds" is given as false then which of the following statements can be
immediately inferred to be false?

1. Some birds fly.
2. Some animals are not birds.
3. No animals are birds.
4. All animals are birds.
11
(2) 2
(3) 3
) 4




e HUF "He SR U&H g 3 & w4 1 [¢a1 741 8 | dd FHfiRdd BI-81 Y dicblicid ©4 ¥ 3y
& &0 H AT fa1 o i g 2

1. PB Ui 3sd g |
2. g of-IaR Yajl 7gi g
3. PIg S Y&l ol g |
4. 9y SFAR U T |

1) 1

2) 2

(3) 3

(4) 4

1[Option ID=8713]

2[Option ID=8714]

3[Option ID=8715]
4[Option ID=8716]
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Given below are two statements:
Statement I: According to Classical Indian School of logic (Nyaya) one can infer for oneself.

Statement II: According to Nyaya school inferring for oneself is a psychological process and does not require the
formal statement of the different members of a syllogism.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4 4

BIERACAIC AR U
DY I: T (1) & HRAI ARG Ad b 3IUR WL & (e1g Hi 3 foham ot Iehar g |

DY I : W Hd & IR W & [T A I Th AAId91HS HichdT g 3R Arardd & (2 9Rull &
HIDIRD DU B I Dl T8l il © |

JWRIGd HY & 3Tl H, A faU MU g el H a8 I9gad IR DI 99+ Difod ;

1. HYT IR I SH 98l § |
2. HYT IR M EH Tad g |
3. YT RN €. Al PUT TG E |
4. HYT 1A g, dich- YT 11 el g |
1) 1
) 2
(3) 3
4) 4

1[Option ID=8717]
2[Option ID=8718]
3[Option ID=8719]
4[Option ID=8720]
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is a set of rules that must be obeyed when transferring files across the Internet.

1. HTML
2. URL
3.HTTP
. ISP

1) 1

(2) 2

3) 3

(4) 4

el &1 U qg= g forgeh] e IR higdl & RIMH-R H fHardd: ure a1 S =1fgu |

B

1. @A
2.9 3R Td
3w ddl
4. 3 ug di

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=8721]
2[Option ID=8722]

3[Option ID=8723]
4[Option ID=8724]
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The action of sending emails to fraudulently obtain another person's bank details is called:

1. Phishing
2. Pharming
3. Spamming
4. Smishing

1

) 2

(3 3

(4) 4

fordl 3= afekd & dob-Hafid faarull & HYCYde U B g SHd ol DI B H hgdldl 6 ?

1. TopfRiT

WIfET

f
4. feafa

1) 1

(2) 2

(3) 3

4) 4

[V O]

1[Option ID=8725]
2[Option ID=8726]
3[Option ID=8727]
4[Option ID=8728]
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Which of the following are the advantages in using Solid State Drives (SSDs) rather than Hard Disk Drives
(HDDs) in Laptop computers?

A. SSD is much lighter than HDD.
B. SSD has a lower power consumption than HDD.
C. SSDs are thick compared to HDDs due to no moving parts.

Choose the correct answer from the options given below:

. A and B only
. Aand C only
.Band C only
.A,Band C
(1

(2 2

(3) 3

(4) 4

émc‘%? B H TS (¥ SI3d (HDDs) 13Ul Wilds ¥T 134 (SSDs) @ WaRT & Haffad &1 -4
AHE 2

A. HDD®! 3{U&T SSD e/ geab! gicll § |
B. HDD®! U SSD H & fdggd Wud gldi & |
C. HDDs &1 ga-I1H SSDs HI! Blall & diidh 398 iy el HRT -Tg! Uil Sidl g |

(e

i<l AU 7Y fdpedl | I 98 Iugdd IR &I 991 DI :

1. $ad A 3R B
2. Had A 3R C
3. HAAB 3R C
4.A.B3RC

1) 1
(2) 2
(3) 3
(4) 4

R

1[Option ID=8729]
2[Option ID=8730]
3[Option ID=8731]
4[Option ID=8732]

Sl. No.134
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Match List I with List IT

LIST I (Statement) %iﬁg
A [Base-10 (denary) value of the binarv number: 100000 I |100
[nternet service provider advertises a download speed of
B. |80 megabits per second. What 1s the time taken in I |14

seconds to download an 80 megabvte file 7
1A music file 1s 80 megabytes in size and MP3 file
icompression reduces the size of a music file by 90%. m ko
" |The number of MP3 files of the size after compression :
that can be stored on an 800 MB CD
[What 1s the denary (base-10) equivalent to the .

: e ) V. |8
hexadecimal digit E?

D.

Choose the correct answer from the options given below:

1. A-II, B-1V, C-1, D-TII

2. A-IIL, B-1V, C-I, D-II

3. A-L, B-1I, C-IV, D-III

4. A-1IL. B-1. C-IV, D-1II
1)1




) 2
3) 3
(4) 4

ol 11 YT 1 9 A eifo

T EE) = I @)
A [fe3Tem=T T - 100000 DT 89 - 10 (GURNTE | L [100
S-CX-c Wl Werdl 80 HT fae 2 Uid Y s &f
B. [S3als T FAIRT $L 51 U so WiMalge @1 | 1L [14
BISd ®l SI3TaIS B Hf Hal GHY T |
T GAiid BI3d TR | 80 HERE @i g 3R
MP3 TISd Udd- T BISe @ 90% ddh ®H B
C. [GaT 81 39 PR 3! a1 9 Ot 3 Bigal & m 32
e UHTd 800 TH &t o1 Slal T Tafed o o w@d]

B
o ggﬂﬁ%EﬁW@ﬂm@ﬂ-m)m e
i< T3U U f[dded| § 1 gl IR &l 999 DI :

1. A-II, B-1V, C-1, D-III
2. A-IIL, B-1V, C-I, D-II
3. A-L, B-II, C-TV, D-III
4. A-IIT, B-1, C-1V, D-II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8733]

2[Option ID=8734]

3[Option ID=8735]
4[Option ID=8736]

Sl. No.135
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Give below are two statements:
Statement I : CDs and DVDs are described as magnetic storage devices.

Statement II : Laser printers are made up of a print head consisting of nozzles that sprays droplets of ink onto the
paper to form characters.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2 2

(3) 3

4) 4




e pyafeuug -
DY 1 : iet 3R SIS TP UG Yfkidl (IUHRUM) & Y H O Id 6 |

DY I : TR fHfex T 319 2 I 54 g1d ¢ IS 21aRT & i 8 SIS R WIel &1 Sicl §al &
fSS®Id B ald AIoid aid © |

IR HUA & Alip H, Fid feU U f[dhedi § 9 el IR Bl 994 HIfoT
1. PYTISR IS 9d g |

2. HYF I AR I EH 3T § |
3. HYT I g, dfbd BYT I 3 TI © |
4 YT AT §, AT HYT I TAE |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8737]
2[Option ID=8738]

3[Option ID=8739]
4[Option ID=8740]
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Give below are two statements:

Statement I : The Montreal Protocol to protect the Earth's ozone layer is to date the only United Nations
environment agreement to be ratified by every country in the world.

Statement II : Paris agreement establishes voluntary commitments by all parties to prepare, communicate and
maintain a Nationally Determined Contribution (NDC).

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.

4. Statement I is false but Statement II is true.
1) 1
(2 2
(3) 3
4) 4

TR FARTIUE:

DY : Gedl 1 31ST URd b GRAUT & U Hifead WeTbld SfTeide 1 qaiarul Hatl e Y I
THHTA BRR ¢ o1 134 & YdDH A B P g |

PUT I : TR HIR AL TR R FeiRa Frer (TSRl TaR S, Uftd o3 R 3RE0 o3 8
it eii gR1 Wiesd Faa<did |AMUd Hd1 @ |

IR HUA P 3HTcdlld I, i fGU MU [dhed] & TE IR D1 98 DIfoIe:

1. BYTIIR IS I © |
2. HYFI AR I SHI 3T § |
3. HYT I 8, AP PUYTII 3T E |
4 FYT AT 5, AP HYT 1 T © |
1) 1
2) 2
3) 3
4) 4




1[Option ID=8741]
2[Option ID=8742]
3[Option ID=8743]
4[Option ID=8744]

Sl. No.137
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Give below are two statements:

Statement I : Thermal pollution, usually effluent from cooling systems of power plants or other industries, alters
water temperature in a lake or stream.

Statement IT : Humans also cause thermal pollution by altering vegetation cover and run-off patterns.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2) 2

(3) 3

4 4

BIERACAIC AR U

DY 1 : AT [degd YT rydT 3= Il ot wRiia yonferal I sfg:@ra, dardig uguor sl a1 oid
TaTE B 51 & a1 H gRad dR a1 |

DY 11 : A Wl Tl SHTTe 3R S Udlg! woyl I giRafdd $ drdig Ugyu Hdi g |

JWRIEKT HYH & 3ATdid |, i faU 70 fadhedi § Tl IR &1 999 Difoid:

1. BYTIIR IS 9T © |
2. HYFI AR I SH 3T g |
3. HYT I o, Al YT I 3T ¢ |
4. FYTI A . APAFYT N TAE |
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=8745]
2[Option ID=8746]
3[Option ID=8747]
4[Option ID=8748]
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Which of the following substances has the least Ozone Depleting Potential?

. Chlorofluorocarbons

. Hydro chlorofluorocarbons
. Carbon tetrachloride

. Halons

11

(2) 2

(3) 3

4) 4

fafeiad o 9 foog gard &t fieli sfgart GHIedl JIAdH ¢ 2

1. FARTFRIbTe
2. BIS S IAIRIURIBTa
3. BT CClHIRIS S

4. 509

W I =

=




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8749]
2[Option ID=8750]

3[Option ID=8751]
4[Option ID=8752]
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Potential regions of geothermal sites are:

A. Circum pacific belt
B. Himalayan Region
C. Delta

D. Subduction zones
E. Rann of Kachchh

Choose the correct answer from the options given below:

.A.Band C only
.B, C and D only
.A.Band D only
.A.Dand E only

1) 1
(2) 2
(3) 3
(4) 4

yaT ®Ql & G &

A. GR-YNT &7 (BT URITGS de)
B. feATad &4

C. STl

D. FEge (Fdsavr) &

E. Fed &I 0]

i fAu T Aol H 9 gl SR &1 98- Sifu :

1. Fad A, B, 3R C
2. $Had B, C 3R D
3. Hdd A, B3R D
4. A A, D 3R E

1)1
(2) 2
(3) 3
(4) 4

LS I o B

=

1[Option ID=8753]
2[Option ID=8754]
3[Option ID=8755]
4[Option ID=8756]

Sl. No.140
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International Solar Alliance (ISA) has its head quarter in:

1. United States
2. Switzerland
3. India
4, France

11

2) 2




3) 3
(4) 4

STRIPIY HR e (S1STHY) BT HEaTed afaiad § 9 ogi iR g -

1. TG I SHALIDT
2. RgcoRds

3. HRd

4.1

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8757]

2[Option ID=8758]

3[Option ID=8759]
4[Option ID=8760]

Sl. No.141
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National Council for Vocational Education and Training (NCVET), an overarching skills regulator, was notified
in the year:

. 2018
. 2015
. 1956
. 1961
1) 1
(2) 2
(3) 3
(4) 4

U 3ffd 31=s1g PId faf g, APty sarqais fRia ¢d ufRienn gikyg (gafidisd) feg oy sifdyfed
ge di?

. 2018
. 2015
. 1956
. 1961
11
() 2
(3) 3
4 4

L R

.

D

I

1[Option ID=8761]
2[Option ID=8762]
3[Option ID=8763]
4[Option ID=8764]
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Which of the following are the ancient Indian texts on Astronomy?

A. Sankhyakarika

B. Siddhanta Siromani
C. Surja Siddhanta

D. Grihya Sutras

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. B and C only
3.A/B.Cand D
4. A, B and D only
1
) 2




3) 3
(4) 4

frgfafad § 9 @md - G RuUEH yRdg dy T 2

A, SIS
B. RyGid R0
C. 9ol Rrgia
D. 8 g

il AU 7Y fdpedl H I 98 Iugdd IR Bl 99 DI

1. $adA. B3R C
2. HAAB 3R C
3.A.B,C3{RD
4. A A, B3IRD

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8765]
2[Option ID=8766]
3[Option ID=8767]
4[Option ID=8768]

Sl. No.143
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Which of the following are the characteristics of conventional learning?

A. Cost-effective

B. Teacher-centered learning
C. Learner oriented

D. Prescribed curriculum

E. Require regular attendance.

Choose the correct answer from the options given below:

.C,D and E only
.B,D and E only
.A.Dand E only
.A.BandD only

(1) 1
(2) 2
(3) 3
(4) 4

frafead # 9 gRuRe e 1 fagvag S i g 2

A. ARTA-UHTd

B. f1e/@ - Hid femH
C. SMETHSdl - 3™

D. iR greT=al

E. Frafia SoRufa emew®

i< feu 7TE fdeedi A O ol 39 &1 904 DIl :

1.%ad C,D 3R E
2. $dd B. D 3R E
3. Hdd A, D 3RE
4. HGAA. B3RD

b I =

=




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8769]
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Higher order thinking skills can be promoted through:

1. Rote learning
2. Active learning
3. Passive learning
4. Tutorials
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Who among the following was the Governor-General and the Viceroy who passed the acts of incorporation in
January 1857, which provided for the establishment of universities at Calcutta, Bombay and Madras?

. Lord Curzon

. Lord Dalhousie

. Lord Lansdowne
. Lord Canning
1) 1

(2) 2

3) 3

4) 4
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.
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What was the initial response of western press to Ghandhiji's salt march ?

1. Skeptical
2. Appreciative
3. Deceptive
4. Neutral
1) 1
(2) 2
3) 3
4 4
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.
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How did Time magazine describe Gandhi's salt march in its first report ?

1. People would reject the march.
2. He would not be able to complete it.
3. The British supported the march.
4. Gandhiji had the physical strength to lead the march.
1) 1
() 2
(3) 3
(4) 4
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.
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TS Hiald Pl WA Bl U 3= Hid G HI FIST o Gl § : SERID I THMER UHE —RH | RY H 8
g [RGB RYdSD it & “gadl Udd e AR “Hdho! ol HHY & R H feradi ¢ | 3o+ gt Ruid 7,
CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
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BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
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Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

‘What was the first effect of the salt March ?

. People were confused.

. Gandhi's followers were reluctant.

. Gandhi was able to garner world attention

. Gandhiji's faith in Christianity got reinforced.
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad e &1 ufgu ok us &1 IR gIioie
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CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
LA GHITG & A il <STH IR FR 70, Uiiest &l fare =gl o1 fb “H=1ebr ¥d SR 31 - J
IRIRG 9 T THA g1~ Th Uiig & Ui o, S 0! U 9ad of | el5H A foran f& afigrad 3 foaq
99 UHM IR B S U b I8 Tt —mes FRI=Ieeb 4 9 i g1 e Y | o d el
B Ueh UY “Tdl 3fR “Aedr & 9 H G HA @1 Sl “340T5 AT drd Al & (a8 3975 Sl &1 Th
BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
YR BT & el B AR Widn, R 3R RIS GHER A1l H 38 A" Il 9 UHH IR Har [ |
IR, gg Ugcll xyardl Tfafafer o4t fores wfgarstl 5 Rkl T # 4 feran | gATSaret eHdred! Igiareay |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

The salt march was the first nationalist movement to attract/incur

. The attention of American press

. comments by the European press

. The wrath of the British Government

. A large number of women participants
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad e &1 ufgu ok us &1 IR gIioie

TS Hiald Pl WA Bl U 3= Hid G HI FIST o Gl § : SERID I THMER UHE —RH | RY H 8
g [RGB RYdSD it & “gadl Udd e AR “Hdho! ol HHY & R H feradi ¢ | 3o+ gt Ruid 7,
CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
LA GHITG & A il <STH IR FR 70, Uiiest &l fare =gl o1 fb “H=1ebr ¥d SR 31 - J
IRIRG 9 T THA g1~ Th Uiig & Ui o, S 0! U 9ad of | el5H A foran f& afigrad 3 foaq
99 UHM IR B S U b I8 Tt —mes FRI=Ieeb 4 9 i g1 e Y | o d el
B Ueh UY “Tdl 3fR “Aedr & 9 H G HA @1 Sl “340T5 AT drd Al & (a8 3975 Sl &1 Th
BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
YR BT & el B AR Widn, R 3R RIS GHER A1l H 38 A" Il 9 UHH IR Har [ |
IR, gg Ugcll xyardl Tfafafer o4t fores wfgarstl 5 Rkl T # 4 feran | gATSaret eHdred! Igiareay |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

According to the passage, the most significant outcome of the salt march was that

1. The British were able to nullify the effects of the movement.
2. Gandhiji could not achieve his aim of breaking the salt law.
3. The British realized the need for devolution of power with Indians.

4. The salt march ended as a mere local movement of tokenism.
1) 1
(2 2
(3) 3
4) 4
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